KANAL Kd1

Identyfikacja kanatu Obliczenie miarodajnego natezenia odptywu sciekéw deszczowych
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
1 Kd1.2.1 Sd1.13 Sdi1.11 75,0 75,0 0,310 0,000 0,000 0,31 0,26 0,26 5 1 1,25 5,00 7,50 122,58 32,30
2 Kd1.2 Sd1.17 Sd1.11 125,5 125,5 0,128 0,000 0,210 0,34 0,19 0,19 5 1 2,09 5,00 8,51 101,18 19,51
3 Kd1.2 Sdi1.11 Sd1.10 78,4 278,9 0,000 0,000 0,000 0,00 0,00 0,46 5 1 4,65 5,00 11,58 91,76 41,87
4 Kd1 Sd1.19 Sd1.10 64,6 64,6 0,065 0,000 0,150 0,22 0,12 0,12 5 1 1,08 5,00 7,29 101,18 11,66
5 Kd1.2 Sd1.10 Sdi1.3 14,6 358,1 0,000 0,000 0,000 0,00 0,00 0,57 5 1 5,97 5,00 13,16 84,24 48,15
6 Kd1.1 Sd1.9 Sd1.3 199,3 199,3 0,200 0,000 0,320 0,52 0,30 0,30 5 1 3,32 5,00 9,99 101,18 30,15
7 Kd1 Sdi1.3 Sdi.1 63,4 620,8 0,000 0,000 0,000 0,00 0,00 0,87 5 1 10,35 5,00 18,42 67,33 58,55
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%0 m %0 % m/s mnpm. | mnpm. | mnpm. | mnpm. m m mnpm. | mnpm. | mnpm. | mnpm. nr nr
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39
6 S © 0,250 6 64,2 0,161 1,09 168,01 167,58 166,82 166,38 1,19 1,20 0,94 0,95 166,98 166,54 Sd1.13 Sdi1.11
3 E g E 0,315 3 42,3 0,133 0,70 167,99 167,58 166,76 166,38 1,23 1,20 0,92 0,89 166,89 166,51 Sd1.17 Sd1.11
4 g ; °Z° 0,315 3 64,4 0,203 0,93 167,58 167,26 166,38 166,14 1,20 1,12 0,89 0,81 166,58 166,34 Sdi1.11 Sd1.10
-1 Fe 2 0,250 2 49,7 0,124 0,65 167,20 167,26 166,30 166,14 0,90 1,12 0,65 0,87 166,42 166,26 Sd1.19 Sd1.10
10 © = O 0,315 5 59,8 0,188 1,12 167,26 167,12 166,14 166,06 1,12 1,06 0,81 0,75 166,33 166,25 Sd1.10 Sdi1.3
5 é E =4 0,315 3 53,3 0,168 0,81 168,06 167,12 166,69 166,11 1,37 1,01 1,06 0,69 166,86 166,28 Sd1.9 Sd1.3
7 0,400 3 54,2 0,217 0,95 167,12 166,70 166,01 165,80 1,11 0,90 0,71 0,50 166,23 166,02 Sd1.3 Sdi1.1




